FJ is trying to qualify for the school team in the shot put event, which involves throwing a heavy metal ball called SCORE: /25 PTS
a shot. In order to qualify, the shot must land on the ground at least 48 feet from where FJ is standing. For FI’s farthest throw, the shot is

thrown at an angle of 36.87  with the horizontal, at an initial speed of 40 feet per second, from an initial height of 6 feet,

NOTE: ¢0836.87" = ¢ and sin36.87" =1

[a] erte parametric equations for the position of the shot.
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[b] Does FJ qualify for the team ?

AN 4836 — £ 1 O

i e

3 6*24(—— - 163G

6*36—'%6

@‘* O L ShoT wAS STILL I THE Azl AT 4& FT
et B MAR K.
?J‘uu/xuf @Cﬁoa THe Terv

Using mathematical induction, prove that Z i(3i=1)]=n>(n+1) forall positive integers 71 . SCORE: /25 PTS
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Find the sum of the series 125+ 117 +109 +101+...—235.
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SCORE: /1S PTS
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Consider the expression (13x° —=11x%)". SCORE: /30 PTS

Write the expansion of the expression using sigma notation. Your answer may use , C, notation, x and positive exponents only.
/{\ Slmphfy all exponents.
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[b] Find the 38" term in the expansion. Your answer may use , C, notation, +, —, x and positive exponents only.
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Find the coefficient of X ° in the expansion. Your answer may use , C, notation, +, —, x and positive exponents only.
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G was taught to save money starting at a very young age. On her 2% birthday, GJ opened a savings account SCORE: /15 PTS
and deposited $240 into it. Every birthday afterwards, GJ made another deposit which was 4% more than the deposit made the previous

birthday. After the deposit on her 21* birthday, what was the total amount that had been deposited in the account ?
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Describe the difference between the curves with parametric equations and ; SCORE: /15 PTS
y = cost y=t

Discuss the rectangular equation(s) of the graphs, as well as the orientation and portion of the graph corresponding to the parametric equations.
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Use sigma notation to write the series - + = Foi = SCORE: /10 PTS
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A tax rebate has been given to property owners by the state government with the anticipation that each property SCORE: /15 PTS

owner will spend approximately 85% of the rebate, and in turn each recipient of this amount will spend 85% of what they receive, and so
on. Economists refer to this exchange of money and its circulation within the economy as the “multiplier effect”. The multiplier effect operates
on the idea that the expenditures of one individual become the income of another individual. For a tax rebate of $600, find the total amount
put back into the state's economy, if this effect continues without end.
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